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Exercise

1. Mansa has borrowed ₹. 50 and Swetha has

borrowed ₹. 20 from their mother. How will

you represent this on the number line?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_AS2JqyveaQIj


Suppose their father gave them ₹100 each as a

pocket money. Who will have more money

after clearing the debit?

Watch Video Solution

2. Draw a vertical line and represent the

following integers on the number line:

Watch Video Solution

−5, 4, − 7, − 8, − 2, 9, , 5, − 6, 2

https://dl.doubtnut.com/l/_AS2JqyveaQIj
https://dl.doubtnut.com/l/_JlsHBqeQvOba


3. Write some more models for positive and

negative numbers in our daily life.

Watch Video Solution

4. Represent the statement using signs of

integers.An aeroplane is �ying at a height of

3000 meters.

Watch Video Solution

https://dl.doubtnut.com/l/_Vy3r3AO5z2qI
https://dl.doubtnut.com/l/_F1l6hzAr3n3K


5. Represent the statement using signs of

integers:The �sh is 10 meters below the water

surface.

Watch Video Solution

6. Represent the statement using signs of

integers:The temperature in Hyderabad is

 above .

Watch Video Solution

35∘
C 0∘

C

https://dl.doubtnut.com/l/_3ZC3hwfuXCKr
https://dl.doubtnut.com/l/_aKQy3DcmHPNc
https://dl.doubtnut.com/l/_clkDfGqV0lr5


7. Represent the statement using signs of

integers:Water freezes ay  temperature

Watch Video Solution

0∘
C

8. Represent the statement using signs of

integers:The average temperature at the

Mount Everest in January is  below zero

degree.

Watch Video Solution

36∘
C

https://dl.doubtnut.com/l/_clkDfGqV0lr5
https://dl.doubtnut.com/l/_AwAMNWSe1pVb
https://dl.doubtnut.com/l/_j4XUcnX5BUnR


9. Represent the statement using signs of

integers:The submarine is 500 meters below

the surface of the sea.

Watch Video Solution

10. Represent the statement using signs of

integers:The average temperature at

dargeeling in July is  below zero degree.

Watch Video Solution

19∘
C

https://dl.doubtnut.com/l/_j4XUcnX5BUnR
https://dl.doubtnut.com/l/_2aIuF79whOaK


11. Represent the statement using signs of

integers: The average temperature in

Visakhapatnam during January is .

Watch Video Solution

18∘
C

12. Write any �ve negative integers.

Watch Video Solution

13. Write any �ve positive integers.

https://dl.doubtnut.com/l/_h7IOR6OvjkOK
https://dl.doubtnut.com/l/_riiPW2qHpwXY
https://dl.doubtnut.com/l/_Xsm5mMu4EZqC


Watch Video Solution

14. Mark the integers on the number line given

below: 

Watch Video Solution

−4, 3, 2, 0, − 1, 5

15. Write True or false. If the statement is false,

correct the statement: -7 is on the right side of

-6 on the number line.

Watch Video Solution

https://dl.doubtnut.com/l/_Xsm5mMu4EZqC
https://dl.doubtnut.com/l/_irx7xp4Fd0gs
https://dl.doubtnut.com/l/_9p7c7qFkNP6u


16. Write True or false. If the statement is false,

correct the statement: Zero is a positive

number.

Watch Video Solution

17. Write True or false. If the statement is false,

correct the statement: 9 is on the right side of

zero on the number line.

Watch Video Solution

https://dl.doubtnut.com/l/_9p7c7qFkNP6u
https://dl.doubtnut.com/l/_YgpH9gmF6Ce9
https://dl.doubtnut.com/l/_omRztGY0auCU


18. Write True or false. If the statement is false,

correct the statement: -1 is an interger which

lies between -2 and 0.

Watch Video Solution

19. Fill in the blank using or  signs:

0……..-1

Watch Video Solution

< >

https://dl.doubtnut.com/l/_Lkd0C5wWfMiW
https://dl.doubtnut.com/l/_dAk9LWgLzsvZ


20. Fill in the blank using or  signs:

5……..6

Watch Video Solution

< >

21. Fill in the blank using or  signs:

-3……..-2

Watch Video Solution

< >

https://dl.doubtnut.com/l/_P8vtUd4kfQfv
https://dl.doubtnut.com/l/_Th9US8U42EsA


22. Fill in the blank using or  signs:

-4……..0

Watch Video Solution

< >

23. Put an appropriate symbol  or  in

the boxes given between the two integers, -1

…….. 0

Watch Video Solution

> <

https://dl.doubtnut.com/l/_dA94RAFhsTx3
https://dl.doubtnut.com/l/_ypogpmnjDm21


24. Put an appropriate symbol  or  in

the boxes given between the two integers,

-3……….-7

Watch Video Solution

> <

25. Put an appropriate symbol  or  in

the boxes given between the two integers,

-10…….+10

Watch Video Solution

> <

https://dl.doubtnut.com/l/_c4ir7rF0MLSA
https://dl.doubtnut.com/l/_gLx8U4myIGiW
https://dl.doubtnut.com/l/_oS45YFFZwlBF


26. Put an appropriate symbol  or  in

the boxes given between the two integers,

0……….-5

Watch Video Solution

> <

27. Put an appropriate symbol  or  in

the boxes given between the two integers,

-100………99

Watch Video Solution

> <

https://dl.doubtnut.com/l/_oS45YFFZwlBF
https://dl.doubtnut.com/l/_MllFODEFfbg9
https://dl.doubtnut.com/l/_bPNQHufBJXhj


28. Put an appropriate symbol  or  in

the boxes given between the two integers,

0……..100

Watch Video Solution

> <

29. Write the following integers in increasing

and decresing order. - 

Watch Video Solution

−7, 5, − 3

https://dl.doubtnut.com/l/_bPNQHufBJXhj
https://dl.doubtnut.com/l/_OrtzgI068hYd


30. Write the following integers in increasing

and decresing order. - 

Watch Video Solution

−1, 3, 0

31. Write the following integers in increasing

and decresing order. - 

Watch Video Solution

1, 3, − 6

https://dl.doubtnut.com/l/_zeNyqHDLfJN2
https://dl.doubtnut.com/l/_nfjOPisKFedy


32. Write the following integers in increasing

and decresing order. - 

Watch Video Solution

−5, − 3, − 1

33. Write true or false, correct those that are

False:Zero is on the right of -3.

Watch Video Solution

https://dl.doubtnut.com/l/_ArYwO6UsG6Rh
https://dl.doubtnut.com/l/_1c0ry460NYAk


34. Write true or false, correct those that are

False:-12 and +12 represent on the number line

the same integer.

Watch Video Solution

35. Write true or false, correct those that are

False: Every positive integer greater than zero.

Watch Video Solution

https://dl.doubtnut.com/l/_qXQGuB0KfJET
https://dl.doubtnut.com/l/_Wq7jYacz4U45


36. Write true or false, correct those that are

False:

Watch Video Solution

−5 < 8

37. Write true or false, correct those that are

False:

Watch Video Solution

( − 100) > ( + 100)

https://dl.doubtnut.com/l/_eMXi37D24RNz
https://dl.doubtnut.com/l/_6YwawxPR47kR


38. Write true or false, correct those that are

False:

Watch Video Solution

−1 < − 8

39. Find all integers which lie between the

given two integers. Also represent them on

the number line. `-1 and 1

Watch Video Solution

https://dl.doubtnut.com/l/_Eda3yBsLzGTw
https://dl.doubtnut.com/l/_CcXEmbl6H3LT


40. Find all integers which lie between the

given two integers. Also represent them on

the number line. 

Watch Video Solution

−5 and 0

41. Find all integers which lie between the

given two integers. Also represent them on

the number line. 

Watch Video Solution

−6 and − 8

https://dl.doubtnut.com/l/_PYlgjGkEbYD8
https://dl.doubtnut.com/l/_P8W2utFN4tdj
https://dl.doubtnut.com/l/_JAcBFf8KRJfw


42. Find all integers which lie between the

given two integers. Also represent them on

the number line. 

Watch Video Solution

0 and − 3

43. The temperature recorded in shimla is

 and in kufri is  on the same day.

Which place is colder on that day?

Watch Video Solution

−4∘
C −6∘

C

https://dl.doubtnut.com/l/_JAcBFf8KRJfw
https://dl.doubtnut.com/l/_KtMbDmwBUvOr
https://dl.doubtnut.com/l/_LwkPxLoRoCNf


44. Find the values of the following. 

Watch Video Solution

−7 + 8

45. Find the values of the following. 

Watch Video Solution

−3 + 5

46. Find the values of the following. 

Watch Video Solution

−3 − 2

https://dl.doubtnut.com/l/_LwkPxLoRoCNf
https://dl.doubtnut.com/l/_rYwjjmKkY0Kd
https://dl.doubtnut.com/l/_0AvLYyvJX5uA
https://dl.doubtnut.com/l/_KSAnyZhy9Q7e


47. Find the values of the following. 

Watch Video Solution

+7 − 10

48. Find the soluction of the following: (+5) +

(-5)

Watch Video Solution

49. Find the soluction of the following: (+6) +

(+7)

Watch Video Solution

https://dl.doubtnut.com/l/_KSAnyZhy9Q7e
https://dl.doubtnut.com/l/_DgHiSHSrRNjg
https://dl.doubtnut.com/l/_KYyoTBKDNwil


50. Find the soluction of the following: (-8) +

(+2)

Watch Video Solution

51. Add the following integers using number

line. 7 + (-6)

Watch Video Solution

https://dl.doubtnut.com/l/_KYyoTBKDNwil
https://dl.doubtnut.com/l/_enfTtCS69VVw
https://dl.doubtnut.com/l/_KeJZtQ9MSMNa


52. Add the following integers using number

line. (-8) + (-2)

Watch Video Solution

53. Add the following integers using number

line. (-6) + (-5) + (+2)

Watch Video Solution

https://dl.doubtnut.com/l/_trEGe8qVDJCf
https://dl.doubtnut.com/l/_w0yNdHCggSRA


54. Add the following integers using number

line. (-8) + (-9) (+17)

Watch Video Solution

55. Add the following integers using number

line. (-3) + (-8) + (-5)

Watch Video Solution

https://dl.doubtnut.com/l/_aDCI0DhOYq5D
https://dl.doubtnut.com/l/_LMg4YHCu1Cur


56. Add the following integers using number

line. (-1) + (+7) +(-3)

Watch Video Solution

57. Add without using number line :

Watch Video Solution

10 + ( − 3)

https://dl.doubtnut.com/l/_go8zqEtqn8Mo
https://dl.doubtnut.com/l/_8Kodu5yp5z5C


58. Add without using number line :

Watch Video Solution

( − 10) + ( + 16)

59. Add without using number line :

Watch Video Solution

( − 8) + ( + 8)

https://dl.doubtnut.com/l/_jqLBhwaQl7De
https://dl.doubtnut.com/l/_EuQi3GoOqM5L


60. Add without using number line :

Watch Video Solution

( − 215) + ( + 100)

61. Add without using number line :

Watch Video Solution

( − 110) + ( − 22)

https://dl.doubtnut.com/l/_CpmBTmO7GpAm
https://dl.doubtnut.com/l/_mYmmgMNCVno8


62. Add without using number line :

Watch Video Solution

17 + ( − 11)

63. Find the sum of - 120 and -274

Watch Video Solution

64. Find the sum of - -29, 38 and 190

Watch Video Solution

https://dl.doubtnut.com/l/_lVd4cB6k8Fqa
https://dl.doubtnut.com/l/_G8SCwgkkSqY8
https://dl.doubtnut.com/l/_a1p3qRck3K8c


65. Find the sum of -68 and 28

Watch Video Solution

66. Find the sum of -60, -100 and 300

Watch Video Solution

67. Simplify:

Watch Video Solution

( − 6) + ( − 10) + 5 + 17

https://dl.doubtnut.com/l/_a1p3qRck3K8c
https://dl.doubtnut.com/l/_rima8H763U74
https://dl.doubtnut.com/l/_1K1RAKOr06WZ
https://dl.doubtnut.com/l/_dOemwqJnS1zq


68. Simplify:

Watch Video Solution

30 + ( − 30) + ( − 60) + ( − 18)

69. Simplify:

Watch Video Solution

( − 80) + ( + 40) + ( − 30) + ( + 6)

70. Simplify:70 + ( − 18) + ( − 10) + ( − 17)

https://dl.doubtnut.com/l/_dOemwqJnS1zq
https://dl.doubtnut.com/l/_ayd40JuzP1nV
https://dl.doubtnut.com/l/_ZUn5RWc63dxe
https://dl.doubtnut.com/l/_5O6NYuBUFPBu


Watch Video Solution

71. Do this 

Watch Video Solution

−5 − ( − 3)

72. Do this 

Watch Video Solution

−7 − ( + 2)

73. Do this −7 − ( − 5)

https://dl.doubtnut.com/l/_5O6NYuBUFPBu
https://dl.doubtnut.com/l/_IRnOxuNcEcUN
https://dl.doubtnut.com/l/_QAquPGeSlK7F
https://dl.doubtnut.com/l/_0QxcUbYfeIB6


Watch Video Solution

74. Do this 

Watch Video Solution

3 − ( − 4)

75. Do this 

Watch Video Solution

5 − ( + 7)

76. Do this 4 − ( − 2)

https://dl.doubtnut.com/l/_0QxcUbYfeIB6
https://dl.doubtnut.com/l/_7pBlaztUaMGV
https://dl.doubtnut.com/l/_sEfm3b6unLGg
https://dl.doubtnut.com/l/_pQn7OmxbYhCW


Watch Video Solution

77. Find 

Watch Video Solution

40 − (22)

78. Find 

Watch Video Solution

84 − (98)

79. Find ( − 16) + ( − 17)

https://dl.doubtnut.com/l/_pQn7OmxbYhCW
https://dl.doubtnut.com/l/_dzUQJihCgGtH
https://dl.doubtnut.com/l/_9Rxqs6yRY4Le
https://dl.doubtnut.com/l/_neIpAePz0Ee7


Watch Video Solution

80. Find 

Watch Video Solution

( − 20) − (13)

81. Find 

Watch Video Solution

(38) − ( − 6)

82. Find ( − 17) − ( − 36)

https://dl.doubtnut.com/l/_neIpAePz0Ee7
https://dl.doubtnut.com/l/_U4ycOLXqCt4M
https://dl.doubtnut.com/l/_eHJmqeOuSDZW
https://dl.doubtnut.com/l/_zUKYJU9RaSd0


Watch Video Solution

83. Fill in the blanks with  ,  or  sign: 

 ……… 

Watch Video Solution

< > =

( − 4) + ( − 5) ( − 5) − ( − 4)

84. Fill in the blanks with  ,  or  sign: 

 ……… 

Watch Video Solution

< > =

( − 16) − ( − 23) ( − 6) + ( − 12)

https://dl.doubtnut.com/l/_zUKYJU9RaSd0
https://dl.doubtnut.com/l/_51hkYKY44ysx
https://dl.doubtnut.com/l/_qUTSREgp5DEq
https://dl.doubtnut.com/l/_lnvsguqhBLq6


85. Fill in the blanks with  ,  or  sign: 

 ………. 

Watch Video Solution

< > =

(44) − ( − 10) 47 + ( − 3)

86. Fill in the blanks with  ,  or  sign: 

 ……… 

Watch Video Solution

< > =

( − 21) + ( − 22) ( − 22) + ( − 21)

87. Fill in the blanks. (-13) + …….= 0

https://dl.doubtnut.com/l/_lnvsguqhBLq6
https://dl.doubtnut.com/l/_PCXjDUHA5hcb
https://dl.doubtnut.com/l/_5TyuQr17kzeQ


Watch Video Solution

88. Fill in the blanks. (-16) + (16)= …….

Watch Video Solution

89. Fill in the blanks. (-5) + …….= -14

Watch Video Solution

90. Fill in the blanks. ……. -16= -22

https://dl.doubtnut.com/l/_5TyuQr17kzeQ
https://dl.doubtnut.com/l/_8yCCKpv5JAbV
https://dl.doubtnut.com/l/_Xh8vJTfEDOua
https://dl.doubtnut.com/l/_1Zs2R20mg7lx


Watch Video Solution

91. Simplify : 

Watch Video Solution

( − 6)– ( − 5)– ( + 2)

92. Simplify : 

Watch Video Solution

( − 12) + 42 − 7 − 2

93. Simplify : ( − 3) + ( − 6) + ( − 24)

https://dl.doubtnut.com/l/_1Zs2R20mg7lx
https://dl.doubtnut.com/l/_ku4o2D9t2P1D
https://dl.doubtnut.com/l/_9TwoMzMM2hex
https://dl.doubtnut.com/l/_hcHHsBiDx1h7


Watch Video Solution

94. Simplify : 

Watch Video Solution

40– ( − 50) − 2

95. Represent the statement using signs of

integers: The temperature of Guntur is 

above 

Watch Video Solution

42∘
C

0∘
C

https://dl.doubtnut.com/l/_hcHHsBiDx1h7
https://dl.doubtnut.com/l/_FcqZmQH9goZu
https://dl.doubtnut.com/l/_EdruuAotgzPg
https://dl.doubtnut.com/l/_NVAp3tkhEAaV


96. Represent the statement using signs of

integers:The aeroplane is �ying at a height of

2500 meters

Watch Video Solution

97. Represent the statement using signs of

integers:the submarine is 1200 mts under the

sea?

Watch Video Solution

https://dl.doubtnut.com/l/_NVAp3tkhEAaV
https://dl.doubtnut.com/l/_Ag0T96sloefK


98. Represent the statement using signs of

integers:the price of oil raise ₹5 per litre from

today?

Watch Video Solution

99. Write the integer between -10 and -2.show

on number line.

Watch Video Solution

https://dl.doubtnut.com/l/_MaBeIuFx4WzY
https://dl.doubtnut.com/l/_tQRZZuqY6xrW


100. Put an appropriate symbol  or  in

the boxes given between the two integers:

.........-86

Watch Video Solution

> <

−98

101. Put an appropriate symbol  or  in

the boxes given between the two integers:

-1......-8

Watch Video Solution

> <

https://dl.doubtnut.com/l/_BWOrNDjeGQ5U
https://dl.doubtnut.com/l/_TW4WzKuw1l0Q
https://dl.doubtnut.com/l/_2kd46EOpz7c4


102. Put an appropriate symbol  or  in

the boxes given between the two integers:

+11……..-11

Watch Video Solution

> <

103. Put an appropriate symbol  or  in

the boxes given between the two

integers:-15……+15

Watch Video Solution

> <

https://dl.doubtnut.com/l/_2kd46EOpz7c4
https://dl.doubtnut.com/l/_NA4HWwhZbMec
https://dl.doubtnut.com/l/_ryQbqZP6iTTt


104. The temperature recorded in Ooty is

 and in Bangalore is  on the

same day. Which place is colder on that day?

Watch Video Solution

+4∘
C +12∘

C

105. Add:6+(-4)

Watch Video Solution

106. Add:

Watch Video Solution

( − 3) + ( − 5)

https://dl.doubtnut.com/l/_ryQbqZP6iTTt
https://dl.doubtnut.com/l/_JaqUBtCbbnpz
https://dl.doubtnut.com/l/_9TJvosDcSkDr


107. Add:

Watch Video Solution

6 + 4 + ( − 5)

108. Add:

Watch Video Solution

10 + ( − 2) + ( − 7)

109. Add without using number line:

( − 117) + ( + 98)

https://dl.doubtnut.com/l/_9TJvosDcSkDr
https://dl.doubtnut.com/l/_d7wRUMYSGbOQ
https://dl.doubtnut.com/l/_fec2CNPIywKQ
https://dl.doubtnut.com/l/_v4mrxQqnihzk


Watch Video Solution

110. Add without using number line:

Watch Video Solution

−68 + (39)

111. Add without using number line:

Watch Video Solution

101 + ( − 79)

https://dl.doubtnut.com/l/_v4mrxQqnihzk
https://dl.doubtnut.com/l/_4bUA1zX8qQNU
https://dl.doubtnut.com/l/_6Z70LfT9YmMB
https://dl.doubtnut.com/l/_7IKnt8otOwso


112. Add without using number line:

Watch Video Solution

36 + ( − 14)

113. Fill the blank with  or  sign: 

.........

Watch Video Solution

> , < =

( − 17) − ( − 33) ( − 7) − ( − 43)

https://dl.doubtnut.com/l/_7IKnt8otOwso
https://dl.doubtnut.com/l/_SysXIol5qzaI


114. Fill the blank with  or  sign: 

.........(18)+(-17)

Watch Video Solution

> , < =

( − 18) + ( − 17)

115. Fill the blank with  or  sign:

(-11)+(11)...........(-11)+(-11)

Watch Video Solution

> , < =

https://dl.doubtnut.com/l/_aSl5XpAClOkQ
https://dl.doubtnut.com/l/_czhyuB9cIaAx


116. Fill the blank with  or  sign:

(0)+(37)........(+37)-(0)

Watch Video Solution

> , < =

117. Fill in the blank:the sum of two negative

integer is…………

Watch Video Solution

https://dl.doubtnut.com/l/_8vjrcgO2tV4y
https://dl.doubtnut.com/l/_1eZlaRHe6AKM


118. Fill in the blanks : ............. is the Additive

Identity.

Watch Video Solution

119. Fill in the blank:The Additive Inverse of +13

is……..

Watch Video Solution

120. Fill in the blank:(-8)+.........=15

https://dl.doubtnut.com/l/_pbQY0Zzoo9AI
https://dl.doubtnut.com/l/_nABQYnrFtMxk
https://dl.doubtnut.com/l/_vScs38qgUsTA


Watch Video Solution

121. Fill in the blank:(-29)+29=.........

Watch Video Solution

122. Ravi took a number -12 instead of +12, how

much the less he took?

Watch Video Solution

https://dl.doubtnut.com/l/_vScs38qgUsTA
https://dl.doubtnut.com/l/_ulpF7sbODwJh
https://dl.doubtnut.com/l/_7YexXVABbFlg


123. A person moves Up 4 steps and came

down to 5 steps. Where is he now? Show it on

vertical line.

Watch Video Solution

124. The temperature on a cold night in Simla

is  and in delhi  what is the

di�erence of temperature?

Watch Video Solution

−4∘
C 8∘

C

https://dl.doubtnut.com/l/_iwjGHNMRVycY
https://dl.doubtnut.com/l/_30oSK6rerqD4
https://dl.doubtnut.com/l/_FrZAWglxwlf8


125. Express the given below with appropriate

integers: The price of rice raises to 30 per kg.

Watch Video Solution

126. Express the given below with appropriate

integers:The price of onions falls to 10 per kg

Watch Video Solution

https://dl.doubtnut.com/l/_FrZAWglxwlf8
https://dl.doubtnut.com/l/_uSEbxQpwgLzO


127. Express the given below with appropriate

integers:The price of nano car is raised by ₹

20,000 in the recent budget.

Watch Video Solution

128. Express the given below with appropriate

integers:The rainfall falls down to 8 cm last

year in Guntur.

Watch Video Solution

https://dl.doubtnut.com/l/_T8f8P6ESnAF3
https://dl.doubtnut.com/l/_bqOkGQ1Gx5us
https://dl.doubtnut.com/l/_zfizkwc0reUp


129. Represent on number line the integers lie

between -3 and +5

Watch Video Solution

130. A bird is �ying at a height of 18 meters

above the river and it saw a �sh at a depth of 3

meters . how much distance the bird hs to

travel to reach the �sh?

Watch Video Solution

https://dl.doubtnut.com/l/_zfizkwc0reUp
https://dl.doubtnut.com/l/_39wNI5X9pHIC
https://dl.doubtnut.com/l/_KzpIzYjT92Zb


131. Add (-4) and (-5) using the number line.

Watch Video Solution

132. Find the sum of

Watch Video Solution

−32, + 27, − 9, + 11, − 3

133. Subtract (+14) from (-9)

Watch Video Solution

https://dl.doubtnut.com/l/_KzpIzYjT92Zb
https://dl.doubtnut.com/l/_foCXCCDxuqiM
https://dl.doubtnut.com/l/_E9m84bv9WFSh


134. Which is the positive integer to zero?

Watch Video Solution

135. Which is the small among -7, -6?

Watch Video Solution

136. Which integer neither +ve nor –ve?

Watch Video Solution

https://dl.doubtnut.com/l/_5qxxO1mGzSgA
https://dl.doubtnut.com/l/_4ZJ3NJjXwaDc
https://dl.doubtnut.com/l/_j5IPAsZpeN5L


137. Sachin recorded the temperature as

 instead of  . what is the

variation of the temperature?

Watch Video Solution

−12∘
C +12∘

C

138. What is the additive inverse of +18?

Watch Video Solution

https://dl.doubtnut.com/l/_2DaoYqbNvGaV
https://dl.doubtnut.com/l/_J9YdKUJnop2e


139. Put an appropriate symbol  or  in

the boxes given between the two integers:

-5…….0

Watch Video Solution

> <

140. Put an appropriate symbol  or  in

the boxes given between the two integers:

-7……..-8

Watch Video Solution

> <

https://dl.doubtnut.com/l/_8Sy7LDuUMYDV
https://dl.doubtnut.com/l/_yuoN1pg667RY
https://dl.doubtnut.com/l/_ZhMfryplI9JB


141. Put an appropriate symbol  or  in

the boxes given between the two integers:

+100………-100

Watch Video Solution

> <

142. Put an appropriate symbol  or  in

the boxes given between the two integers:

-31……-29

Watch Video Solution

> <

https://dl.doubtnut.com/l/_ZhMfryplI9JB
https://dl.doubtnut.com/l/_a3VYOHNIeVKX
https://dl.doubtnut.com/l/_akN3Ksg9rpPI


Example

143. Sum of two negative integer is a negative

integer?Give an example ?

Watch Video Solution

144. If a number is we subtracted from 5 is

decreasing the result obtained is

increasing.explain?

Watch Video Solution

https://dl.doubtnut.com/l/_akN3Ksg9rpPI
https://dl.doubtnut.com/l/_Uvl0sGx1uflM
https://dl.doubtnut.com/l/_RbmV2qlfovPI


1. Find the sum of

Watch Video Solution

( − 10) + ( + 14) + ( − 5) + ( + 8)

2. Find the sum of 

and (-14).

Watch Video Solution

( − 20), ( − 82), ( − 28)

https://dl.doubtnut.com/l/_RbmV2qlfovPI
https://dl.doubtnut.com/l/_zJTYCBQP0MGk


3. Find the sum of

Watch Video Solution

−25 + (21) + ( − 20) + ( + 17) + ( − 1)

4. Subtract -5 from 6.

Watch Video Solution

5. Find the value of (-7) - (-9) using number line.

Watch Video Solution

https://dl.doubtnut.com/l/_G6iN7pvjHLN3
https://dl.doubtnut.com/l/_TKboiyqcv99X
https://dl.doubtnut.com/l/_BcjHkVUNWks0


6. Subtract (-6) from (-13).

Watch Video Solution

7. Subtract (+8) from (-8)

Watch Video Solution

8. Simplify: 

Watch Video Solution

( − 6) − ( + 7) − ( − 24)

https://dl.doubtnut.com/l/_BcjHkVUNWks0
https://dl.doubtnut.com/l/_yISgNnHQ3bDU
https://dl.doubtnut.com/l/_3f1S2V2qR5Is
https://dl.doubtnut.com/l/_VdYrHHCLmhKu


9. Find the sum of

Watch Video Solution

( − 10) + ( + 14) + ( − 5) + ( + 8)

10. Find the sum of 

and (-14).

Watch Video Solution

( − 20), ( − 82), ( − 28)

https://dl.doubtnut.com/l/_VdYrHHCLmhKu
https://dl.doubtnut.com/l/_EcjxowQYeQWm
https://dl.doubtnut.com/l/_iWlmaPy1fNLY


11. Find the sum of

Watch Video Solution

25 + ( − 21) + ( − 20) + ( + 17) + ( − 1)

12. Subtract -5 from 6.

Watch Video Solution

13. Find the value of (-7) - (-9) using number

line.

https://dl.doubtnut.com/l/_pM5zito7YX9w
https://dl.doubtnut.com/l/_U0wH3iSbbdqK
https://dl.doubtnut.com/l/_TxDpNaiqamiA


Watch Video Solution

14. Subtract (-6) from (-13).

Watch Video Solution

15. Subtract (+8) from (-8)

Watch Video Solution

16. Simplify: ( − 6) − ( + 7) − ( − 24)

https://dl.doubtnut.com/l/_TxDpNaiqamiA
https://dl.doubtnut.com/l/_eWrenynPj6ti
https://dl.doubtnut.com/l/_9WOndDfB17Sl
https://dl.doubtnut.com/l/_bJ1qJFh8gr2p


Do This

Watch Video Solution

1. Mansa has borrowed ₹. 50 and Swetha has

borrowed ₹. 20 from their mother. How will

you represent this on the number line?

Suppose their father gave them ₹100 each as a

pocket money. Who will have more money

after clearing the debit?

Watch Video Solution

https://dl.doubtnut.com/l/_bJ1qJFh8gr2p
https://dl.doubtnut.com/l/_PGsIYMCmZmVX


2. Draw a vertical line and represent the

following Integers on the number line: 

-5, 4, -7,6,-9,-4,2, -2.

Watch Video Solution

3. From the above understanding, �ll in the

boxes using  or  signs:  

0 ……….. -1

Watch Video Solution

< >

https://dl.doubtnut.com/l/_LSC56W7QPLxL
https://dl.doubtnut.com/l/_WopiFvqYoz7T
https://dl.doubtnut.com/l/_1bWqlL7y7xul


4. From the above understanding, �ll in the

boxes using  or  signs:  

-3 ……… -2

Watch Video Solution

< >

5. From the above understanding, �ll in the

boxes using  or  signs:  

5 ……….. 6

Watch Video Solution

< >

https://dl.doubtnut.com/l/_1bWqlL7y7xul
https://dl.doubtnut.com/l/_8AhuzLaU2Qan
https://dl.doubtnut.com/l/_zojTaToBvu81


6. From the above understanding, �ll in the

boxes using  or  signs:  

-4 ………. 0

Watch Video Solution

< >

7. Find the values of the following: 

-7 + 8

Watch Video Solution

https://dl.doubtnut.com/l/_zojTaToBvu81
https://dl.doubtnut.com/l/_ChVwbXhn6uDX


8. Find the values of the following: 

-3 + 5

Watch Video Solution

9. Find the values of the following: 

-3 - 2

Watch Video Solution

https://dl.doubtnut.com/l/_AfwgCVQx33j7
https://dl.doubtnut.com/l/_C4FtM5Z0wTNy


10. Find the values of the following: 

+7 - 10

Watch Video Solution

11. 

Watch Video Solution

−5 − ( − 3)

12. 

Watch Video Solution

−7 − ( + 2)

https://dl.doubtnut.com/l/_VptruWUGPPJd
https://dl.doubtnut.com/l/_iuwpFhLrdEZ6
https://dl.doubtnut.com/l/_Zh4O4XgvUZnl


13. 

Watch Video Solution

−7 − ( − 5)

14. 

Watch Video Solution

3 − ( − 4)

15. 

Watch Video Solution

5 − ( + 7)

https://dl.doubtnut.com/l/_Zh4O4XgvUZnl
https://dl.doubtnut.com/l/_5vl5yhHoWKBz
https://dl.doubtnut.com/l/_tKgF1V9EKQdE
https://dl.doubtnut.com/l/_njZsqaXsrV5y


16. 

Watch Video Solution

4 − ( − 2)

17. Manasa has borrowed Rs. 50 and Swetha

has borrowed Rs. 20 from their mother. How

will you represent this on the number line?

Suppose their father gave them Rs.100 each as

pocket money, who will have more money after

clearing the debit?

https://dl.doubtnut.com/l/_njZsqaXsrV5y
https://dl.doubtnut.com/l/_ZxPhCiuOAwAS
https://dl.doubtnut.com/l/_UQKeFrjZ68iR


Watch Video Solution

18. Draw a vertical line and represent the

following Integers on the number line: 

-5, 4, -7, -8, -2, 9, 5, -6, 2.

Watch Video Solution

19. �ll in the boxes using  or  signs:  

0 ……….. -1

Watch Video Solution

< >

https://dl.doubtnut.com/l/_UQKeFrjZ68iR
https://dl.doubtnut.com/l/_kyEo57JDYus1
https://dl.doubtnut.com/l/_vMqzLqFi3P1N


20. , �ll in the boxes using  or  signs:  

-3 ……… -2

Watch Video Solution

< >

21. �ll in the boxes using  or  signs:  

5 ……….. 6

Watch Video Solution

< >

https://dl.doubtnut.com/l/_oYV0R2jMFFhL
https://dl.doubtnut.com/l/_CNvyC9drKHad


22. From the above understanding, �ll in the

boxes using  or  signs:  

-4 ………. 0

Watch Video Solution

< >

23. Find the values of the following: 

-7 + 8

Watch Video Solution

https://dl.doubtnut.com/l/_45QWCfjPVEMg
https://dl.doubtnut.com/l/_QhTIJkltSvVT


24. Find the values of the following: 

-3 + 5

Watch Video Solution

25. Find the values of the following: 

-3 - 2

Watch Video Solution

https://dl.doubtnut.com/l/_SQj0Aa1h1SXO
https://dl.doubtnut.com/l/_rSnC6E2qIYRx


26. Find the values of the following: 

+7 - 10

Watch Video Solution

27. Find the values of the following. 

Watch Video Solution

−3 + 5

28. Find the values of the following:

-7 - (+2)

https://dl.doubtnut.com/l/_Py95fjRRHDQc
https://dl.doubtnut.com/l/_X6vPyHA7Ywtp
https://dl.doubtnut.com/l/_VnnYcxD76bGk


Watch Video Solution

29. 

Watch Video Solution

−7 − ( − 5)

30. 

Watch Video Solution

3 − ( − 4)

31. 5 − ( + 7)

https://dl.doubtnut.com/l/_VnnYcxD76bGk
https://dl.doubtnut.com/l/_rb9CmKxVGMNz
https://dl.doubtnut.com/l/_hxYrdu8ttooS
https://dl.doubtnut.com/l/_mfAXxxMXQfHA


Think Discuss And Write

Watch Video Solution

32. 

Watch Video Solution

4 − ( − 2)

1. Write some more models for positive and

negative numbers in our daily life.

Watch Video Solution

https://dl.doubtnut.com/l/_mfAXxxMXQfHA
https://dl.doubtnut.com/l/_Q3VYckrF3gT3
https://dl.doubtnut.com/l/_TLLCoKEJkQmn


2. Observe that as the number we subtract

from 3 is decreasing the result obtained is

increasing. Do say is it true for all integers.3 - 3

=0, 3 - 2=1,3 - 1=2,3 - 0=3,3 - (-1)=4,3 - (-2)=5,3 -

(-3)=6.

Watch Video Solution

3. Write some more models for positive and

negative numbers in our daily life.

Watch Video Solution

https://dl.doubtnut.com/l/_TLLCoKEJkQmn
https://dl.doubtnut.com/l/_e1HcGvNKqCtP
https://dl.doubtnut.com/l/_coyPwDJzHF5D


Try These

4. Observe that as the number we subtract

from 3 is decreasing the result obtained is

increasing. Do say is it true for all integers.3 - 3

=0, 3 - 2=1,3 - 1=2,3 - 0=3,3 - (-1)=4,3 - (-2)=5,3 -

(-3)=6.

Watch Video Solution

https://dl.doubtnut.com/l/_coyPwDJzHF5D
https://dl.doubtnut.com/l/_npIMIjXQVC0u


1. Collect information about temperature

recorded a various places in India in the

month of January and write them using

integers.

Watch Video Solution

2. Find the value following using a number

line. 

(-3) + 5 

https://dl.doubtnut.com/l/_kxmCbOt7na6d
https://dl.doubtnut.com/l/_M0697xldrWUt


Make your own two new questions and solve

them using the number line.

Watch Video Solution

3. Find the value following using a number

line. 

(-5) + 3 

Watch Video Solution

https://dl.doubtnut.com/l/_M0697xldrWUt
https://dl.doubtnut.com/l/_fgvUuV4SRrMZ


4. Find the solution of the following: 

(+6) + (-6) 

.

Watch Video Solution

5. Find the solution of the following: 

(+6) + (-7) .

Watch Video Solution

https://dl.doubtnut.com/l/_dRxVVmDBH6uz
https://dl.doubtnut.com/l/_b1jO8JJuGd0E


6. Find the solution of the following: 

(-7) + (+2).

Watch Video Solution

7. Collect information about temperature

recorded a various places in India in the

month of January and write them using

integers.

Watch Video Solution

https://dl.doubtnut.com/l/_ZdvAJAjmh0Vc
https://dl.doubtnut.com/l/_WJbUJ9kgLpmP
https://dl.doubtnut.com/l/_FHpyq7Dzr9af


8. Find the value following using a number

line. 

(-3) + 5 

Make your own two new questions and solve

them using the number line.

Watch Video Solution

9. Find the value following using a number

line. 

(-5) + 3 

Watch Video Solution

https://dl.doubtnut.com/l/_FHpyq7Dzr9af
https://dl.doubtnut.com/l/_T2Mbd2cw1DBt


10. Find the solution of the following: (+5) +

(-5)

Watch Video Solution

11. Find the solution of the following: 

(+6) + (-7) .

Watch Video Solution

https://dl.doubtnut.com/l/_T2Mbd2cw1DBt
https://dl.doubtnut.com/l/_FTBMBKbYJANQ
https://dl.doubtnut.com/l/_cuThydonqnRU


Exercise 6 1

12. Find the solution of the following: 

(-8) + (+2) 

Watch Video Solution

1. Represent the statement using signs of

integers.An aeroplane is �ying at a height of

3000 meters.

Watch Video Solution

https://dl.doubtnut.com/l/_AS75XlB831Jv
https://dl.doubtnut.com/l/_9JFhqVxKkGDE


2. Represent the following statements using

signs of Integers. 

The �sh is 10 meters below the water surface.

Watch Video Solution

3. Represent the following statements using

signs of Integers. 

The temperature in Hyderabad is  above 

.

Watch Video Solution

35∘
c

0∘
c

https://dl.doubtnut.com/l/_9JFhqVxKkGDE
https://dl.doubtnut.com/l/_IzUwnY8makEb
https://dl.doubtnut.com/l/_gRAyG3rVClZY


4. Represent the following statements using

signs of Integers. 

Water freezes at  temperature.

Watch Video Solution

0∘
c

5. Represent the statement using signs of

integers:The average temperature at the

Mount Everest in January is  below zero

degree.

36∘
C

https://dl.doubtnut.com/l/_gRAyG3rVClZY
https://dl.doubtnut.com/l/_HlgaX8WZ5fin
https://dl.doubtnut.com/l/_bCqdD0oAVC1F


Watch Video Solution

6. Represent the statement using signs of

integers:The submarine is 500 meters below

the surface of the sea.

Watch Video Solution

7. Represent the statement using signs of

integers:The average temperature at

dargeeling in July is  below zero degree.19∘
C

https://dl.doubtnut.com/l/_bCqdD0oAVC1F
https://dl.doubtnut.com/l/_PFTx23Xxa7Rw
https://dl.doubtnut.com/l/_hbkNJfjOjpiS


Watch Video Solution

8. Represent the statement using signs of

integers: The average temperature in

Visakhapatnam during January is .

Watch Video Solution

18∘
C

9. Write any �ve negative integers.

Watch Video Solution

https://dl.doubtnut.com/l/_hbkNJfjOjpiS
https://dl.doubtnut.com/l/_GaTrhrrU1zLw
https://dl.doubtnut.com/l/_vDyHkMu816ON
https://dl.doubtnut.com/l/_sMaLMqabJv7f


10. Write any �ve positive integers.

Watch Video Solution

11. Mark the integers on the number line given

below: 

Watch Video Solution

−4, 3, 2, 0, − 1, 5

12. Write True or False. If the statement is

false, correct the statement. 

https://dl.doubtnut.com/l/_sMaLMqabJv7f
https://dl.doubtnut.com/l/_eSdZkkgK6DUk
https://dl.doubtnut.com/l/_pLijWkjNTDZv


 is on the right side of -6 on the number

line.

Watch Video Solution

−7

13. Write True or False. If the statement is

false, correct the statement. 

Zero is a positive number.

Watch Video Solution

https://dl.doubtnut.com/l/_pLijWkjNTDZv
https://dl.doubtnut.com/l/_UE1SdEkIhtQl


14. Write True or false. If the statement is false,

correct the statement: 9 is on the right side of

zero on the number line.

Watch Video Solution

15. Write True or false. If the statement is false,

correct the statement: -1 is an interger which

lies between -2 and 0.

Watch Video Solution

https://dl.doubtnut.com/l/_0CjKESMvOc1f
https://dl.doubtnut.com/l/_Sxvwb5bjNlQI
https://dl.doubtnut.com/l/_6OuQIpekCrcT


16. Represent the following statements using

signs of Integers. 

An aeroplane is �ying at a height of 3000

meters

Watch Video Solution

17. Represent the following statements using

signs of Integers. 

The �sh is 10 meters below the water surface.

Watch Video Solution

https://dl.doubtnut.com/l/_6OuQIpekCrcT
https://dl.doubtnut.com/l/_JzimLNxPxf7o


18. Represent the following statements using

signs of Integers. 

The temperature in Hyderabad is  above 

.

Watch Video Solution

35∘
c

0∘
c

19. Represent the following statements using

signs of Integers. 

Water freezes at  temperature.

Watch Video Solution

0∘
c

https://dl.doubtnut.com/l/_icGs7U6xHjJB
https://dl.doubtnut.com/l/_1bikLEzn6y5L


20. Represent the statement using signs of

integers:The average temperature at the

Mount Everest in January is  below zero

degree.

Watch Video Solution

36∘
C

21. Represent the statement using signs of

integers:The submarine is 500 meters below

the surface of the sea.

Watch Video Solution

https://dl.doubtnut.com/l/_1bikLEzn6y5L
https://dl.doubtnut.com/l/_PtiVwwZIc80Y
https://dl.doubtnut.com/l/_UcGdyFBZAuu3


22. Represent the statement using signs of

integers:The average temperature at

dargeeling in July is  below zero degree.

Watch Video Solution

19∘
C

23. Represent the statement using signs of

integers: The average temperature in

Visakhapatnam during January is .

Watch Video Solution

18∘
C

https://dl.doubtnut.com/l/_UcGdyFBZAuu3
https://dl.doubtnut.com/l/_0zxkHq8JCo4u
https://dl.doubtnut.com/l/_j2uIiKd1eBah


24. Write any �ve negative integers.

Watch Video Solution

25. Write any �ve positive integers.

Watch Video Solution

26. Mark the integers on the number line given

below: −4, 3, 2, 0, − 1, 5

https://dl.doubtnut.com/l/_j2uIiKd1eBah
https://dl.doubtnut.com/l/_j8AgpsNMVCRS
https://dl.doubtnut.com/l/_EAKHAFC6PBwn
https://dl.doubtnut.com/l/_iItox29549Qm


Watch Video Solution

27. Write True or False. If the statement is

false, correct the statement. 

 is on the right side of -6 on the number

line.

Watch Video Solution

−7

28. Write True or False. If the statement is

false, correct the statement. 

Zero is a positive number.

https://dl.doubtnut.com/l/_iItox29549Qm
https://dl.doubtnut.com/l/_CX5D1tgsY4GB
https://dl.doubtnut.com/l/_1Enhw6sO1eRO


Watch Video Solution

29. Write True or false. If the statement is false,

correct the statement: 9 is on the right side of

zero on the number line.

Watch Video Solution

30. Write True or false. If the statement is

false, correct the statement: -1 is an interger

which lies between -2 and 0.

https://dl.doubtnut.com/l/_1Enhw6sO1eRO
https://dl.doubtnut.com/l/_RKB6RzjVcCQR
https://dl.doubtnut.com/l/_i6eRR3n1XcSu


Exercise 6 2

Watch Video Solution

1. Put appropriate symbol  or  in the

boxes given between the two integers: 

-1…………0

Watch Video Solution

> <

2. Put appropriate symbol  or  in the

boxes given between the two integers: 

> <

https://dl.doubtnut.com/l/_i6eRR3n1XcSu
https://dl.doubtnut.com/l/_z1ppPaem7NKC
https://dl.doubtnut.com/l/_9wQEBtQC7H4g


-3 …………. -7

Watch Video Solution

3. Put appropriate symbol  or  in the

boxes given between the two integers: 

-10 …………. + 10

Watch Video Solution

> <

4. Put appropriate symbol  or  in the

boxes given between the two integers: 

> <

https://dl.doubtnut.com/l/_9wQEBtQC7H4g
https://dl.doubtnut.com/l/_cILUrEeA5ULc
https://dl.doubtnut.com/l/_8mnwgUTheB7P


0 …………. -5

Watch Video Solution

5. Put appropriate symbol  or  in the

boxes given between the two integers: 

-100 …………… 99

Watch Video Solution

> <

6. Put appropriate symbol  or  in the

boxes given between the two integers: 

> <

https://dl.doubtnut.com/l/_8mnwgUTheB7P
https://dl.doubtnut.com/l/_hb0M7hFrReXw
https://dl.doubtnut.com/l/_WRv5LO3rm5Os


0 ………..100

Watch Video Solution

7. Write the following integers in increasing

and decreasing order: 

-7, 5, -3

Watch Video Solution

8. Write the following integers in increasing

and decreasing order: 

https://dl.doubtnut.com/l/_WRv5LO3rm5Os
https://dl.doubtnut.com/l/_e5Bry1nWRPZu
https://dl.doubtnut.com/l/_xjUgu26kvC04


-1, 3, 0

Watch Video Solution

9. Write the following integers in increasing

and decreasing order: 

1, 3, -6

Watch Video Solution

10. Write the following integers in increasing

and decreasing order: 

https://dl.doubtnut.com/l/_xjUgu26kvC04
https://dl.doubtnut.com/l/_6j4EIh6lmLaj
https://dl.doubtnut.com/l/_GQUlkkvp2ssz


-5, -3, -1

Watch Video Solution

11. Write true or false, correct those that are

False:Zero is on the right of -3.

Watch Video Solution

12. Write true or false, correct those that are

False:-12 and +12 represent on the number line

the same integer.

https://dl.doubtnut.com/l/_GQUlkkvp2ssz
https://dl.doubtnut.com/l/_lHnQe11y14y6
https://dl.doubtnut.com/l/_hAidZTDjahgx


Watch Video Solution

13. Write true or false, correct those that are

False: Every positive integer greater than zero.

Watch Video Solution

14. Write true or false, correct those that are

False:

Watch Video Solution

−5 < 8

https://dl.doubtnut.com/l/_hAidZTDjahgx
https://dl.doubtnut.com/l/_8CyajmkTbtbO
https://dl.doubtnut.com/l/_AwMGFyd5qAFL
https://dl.doubtnut.com/l/_321nFBp0zZac


15. Write true or false, correct those that are

False:

Watch Video Solution

( − 100) > ( + 100)

16. Write true or false, correct those that are

False:

Watch Video Solution

−1 < − 8

https://dl.doubtnut.com/l/_321nFBp0zZac
https://dl.doubtnut.com/l/_IS9YzPvOUzRV


17. Find all integers which lie between the

given two integers. Also represent them on

the number line. `-1 and 1

Watch Video Solution

18. Find all integers which lie between the

given two integers. Also represent them on

the number line. 

Watch Video Solution

−5 and 0

https://dl.doubtnut.com/l/_siR7XaAyousH
https://dl.doubtnut.com/l/_pQz2AOtazzLb
https://dl.doubtnut.com/l/_s0zwIwhd9AJI


19. Find all integers which lie between the

given two integers. Also represent them on

number line: 

-6 and -8

Watch Video Solution

20. Find all integers which lie between the

given two integers. Also represent them on

the number line. 

Watch Video Solution

0 and − 3

https://dl.doubtnut.com/l/_s0zwIwhd9AJI
https://dl.doubtnut.com/l/_328VqI3Pwn3S


21. The temperature recorded in shimla is

 and in kufri is  on the same day.

Which place is colder on that day?

Watch Video Solution

−4∘
C −6∘

C

22. Put appropriate symbol  or  in the

boxes given between the two integers: 

-1…………0

Watch Video Solution

> <

https://dl.doubtnut.com/l/_J18CR57L2Mch
https://dl.doubtnut.com/l/_n6p2S5kGfJTT
https://dl.doubtnut.com/l/_tjgpt0TLgjGV


23. Put appropriate symbol  or  in the

boxes given between the two integers: 

-3 …………. -7

Watch Video Solution

> <

24. Put appropriate symbol  or  in the

boxes given between the two integers: 

-10 …………. + 10

Watch Video Solution

> <

https://dl.doubtnut.com/l/_tjgpt0TLgjGV
https://dl.doubtnut.com/l/_oeIK6BWcG8E6
https://dl.doubtnut.com/l/_McUMTqE1fs20


25. Put appropriate symbol  or  in the

boxes given between the two integers: 

0 …………. -5

Watch Video Solution

> <

26. Put appropriate symbol  or  in the

boxes given between the two integers: 

-100 …………… 99

Watch Video Solution

> <

https://dl.doubtnut.com/l/_McUMTqE1fs20
https://dl.doubtnut.com/l/_GjrjqlgNxp1P


27. Put appropriate symbol  or  in the

boxes given between the two integers: 

0 ………..100

Watch Video Solution

> <

28. Write the following integers in increasing

and decreasing order: 

-7, 5, -3

Watch Video Solution

https://dl.doubtnut.com/l/_Pg2gav3yY5zD
https://dl.doubtnut.com/l/_vxvtYvbS2jp4
https://dl.doubtnut.com/l/_57n8bgIJ76VI


29. Write the following integers in increasing

and decreasing order: 

-1, 3, 0

Watch Video Solution

30. Write the following integers in increasing

and decreasing order: 

1, 3, -6

Watch Video Solution

https://dl.doubtnut.com/l/_57n8bgIJ76VI
https://dl.doubtnut.com/l/_9wAdoTJM78gw
https://dl.doubtnut.com/l/_NSumgvKYHuiH


31. Write the following integers in increasing

and decreasing order: 

-5, -3, -1

Watch Video Solution

32. Write true or false, correct those that are

False:Zero is on the right of -3.

Watch Video Solution

https://dl.doubtnut.com/l/_NSumgvKYHuiH
https://dl.doubtnut.com/l/_ixIu29VLMHML


33. Write true or false, correct those that are

False:-12 and +12 represent on the number line

the same integer.

Watch Video Solution

34. Write true or false, correct those that are

False: Every positive integer greater than zero.

Watch Video Solution

https://dl.doubtnut.com/l/_61uK9L9NAoJC
https://dl.doubtnut.com/l/_HV3hTWVUQ4t0


35. Write true or false, correct those that are

False:

Watch Video Solution

−5 < 8

36. Write true or false, correct those that are

False:

Watch Video Solution

−5 < 8

https://dl.doubtnut.com/l/_eER4qhYSrR8n
https://dl.doubtnut.com/l/_qxNU67z6wGsy


37. Write true or false, correct those that are

False:

Watch Video Solution

−5 < 8

38. Find all integers which lie between the

given two integers. Also represent them on

the number line. `-1 and 1

Watch Video Solution

https://dl.doubtnut.com/l/_jkkCUDRYzwuk
https://dl.doubtnut.com/l/_xu7CZ6SS3UjZ


39. Find all integers which lie between the

given two integers. Also represent them on

the number line. 

Watch Video Solution

−5 and 0

40. Find all integers which lie between the

given two integers. Also represent them on

number line: 

-6 and -8

Watch Video Solution

https://dl.doubtnut.com/l/_X7FGLSuVoegm
https://dl.doubtnut.com/l/_J5KBCotxMl3l


41. Find all integers which lie between the

given two integers. Also represent them on

the number line. 

Watch Video Solution

0 and − 3

42. The temperature recorded in shimla is

 and in kufri is  on the same day.

Which place is colder on that day?

Watch Video Solution

−4∘
C −6∘

C

https://dl.doubtnut.com/l/_J5KBCotxMl3l
https://dl.doubtnut.com/l/_hwEqapc81Xte
https://dl.doubtnut.com/l/_wEmhYLpGdjAc


Exercise 6 3

1. Add the following integers using number

line. 7 + (-6)

Watch Video Solution

2. Add the following integers using number

line. (-8) + (-2)

Watch Video Solution

https://dl.doubtnut.com/l/_Vy6SyQMeGnb2
https://dl.doubtnut.com/l/_wE73awJS8hud
https://dl.doubtnut.com/l/_wzSsRLoxqEpK


3. Add the following integers using number

line. (-6) + (-5) + (+2)

Watch Video Solution

4. Add the following integers using number

line. (-8) + (-9) (+17)

Watch Video Solution

5. Add the following integers using number

line. (-3) + (-8) + (-5)

https://dl.doubtnut.com/l/_wzSsRLoxqEpK
https://dl.doubtnut.com/l/_MyjBh5cozqZK
https://dl.doubtnut.com/l/_kNPiLFvTNvai


Watch Video Solution

6. Add the following integers using number

line. (-1) + (+7) +(-3)

Watch Video Solution

7. Add without using number line : 

Watch Video Solution

10 + ( − 3)

https://dl.doubtnut.com/l/_kNPiLFvTNvai
https://dl.doubtnut.com/l/_deqLgeqIFqX4
https://dl.doubtnut.com/l/_gla3KY4anS4N


8. Add without using number line. 

-10 + (+16)

Watch Video Solution

9. Add without using number line :

Watch Video Solution

( − 8) + ( + 8)

https://dl.doubtnut.com/l/_3lymPjalaacg
https://dl.doubtnut.com/l/_KyuBrgpaXi5J


10. Add without using number line :

Watch Video Solution

( − 215) + ( + 100)

11. Add without using number line :

Watch Video Solution

( − 110) + ( − 22)

https://dl.doubtnut.com/l/_GxLsLIR7uiyU
https://dl.doubtnut.com/l/_iNs49v32KOEc


12. Add without using number line :

Watch Video Solution

17 + ( − 11)

13. Find the sum of - 120 and -274

Watch Video Solution

14. Find the sum of -68 and 28

Watch Video Solution

https://dl.doubtnut.com/l/_diPq8U2fbxsh
https://dl.doubtnut.com/l/_B6U8jsQVD3Vl
https://dl.doubtnut.com/l/_eJ3QPlnRU1JE


15. Find the sum of - -29, 38 and 190

Watch Video Solution

16. Find the sum of -60, -100 and 300

Watch Video Solution

17. Simplify: 

( − 6) + ( − 10) + 5 + 17

https://dl.doubtnut.com/l/_eJ3QPlnRU1JE
https://dl.doubtnut.com/l/_Ee0zp9qEk39v
https://dl.doubtnut.com/l/_9xbugR2vtFci
https://dl.doubtnut.com/l/_VraGW7KRvp1h


Watch Video Solution

18. Simplify:

Watch Video Solution

30 + ( − 30) + ( − 60) + ( − 18)

19. Simplify:

Watch Video Solution

( − 80) + ( + 40) + ( − 30) + ( + 6)

https://dl.doubtnut.com/l/_VraGW7KRvp1h
https://dl.doubtnut.com/l/_6BLGQejCADko
https://dl.doubtnut.com/l/_GXfCtQgzy5G2


20. Simplify: 

Watch Video Solution

70 + ( − 18) + ( − 10) + ( − 17)

21. Add the following integers using number

line. 7 + (-6)

Watch Video Solution

https://dl.doubtnut.com/l/_MJbj0NeS7l2x
https://dl.doubtnut.com/l/_Arh0MoRpjMxx


22. Add the following integers using number

line. (-8) + (-2)

Watch Video Solution

23. Add the following integers using number

line. (-6) + (-5) + (+2)

Watch Video Solution

https://dl.doubtnut.com/l/_GMC2qUOoqkZv
https://dl.doubtnut.com/l/_Bo6TVHQXtvao


24. Add the following integers using number

line. (-8) + (-9) (+17)

Watch Video Solution

25. Add the following integers using number

line. (-3) + (-8) + (-5)

Watch Video Solution

https://dl.doubtnut.com/l/_d57ZgTkAJ1iY
https://dl.doubtnut.com/l/_sz8cLG3byjfO


26. Add the following integers using number

line. (-1) + (+7) +(-3)

Watch Video Solution

27. Add without using number line :

Watch Video Solution

10 + ( − 3)

https://dl.doubtnut.com/l/_fhVOfOCeqRVs
https://dl.doubtnut.com/l/_fZ4QEJBAVCc5


28. Add without using number line. 

-10 + (+16)

Watch Video Solution

29. Add without using number line :

Watch Video Solution

( − 8) + ( + 8)

https://dl.doubtnut.com/l/_yWGKFxAk7OBM
https://dl.doubtnut.com/l/_FyfcvQ6f33nh


30. Add without using number line :

Watch Video Solution

( − 215) + ( + 100)

31. Add without using number line :

Watch Video Solution

( − 110) + ( − 22)

https://dl.doubtnut.com/l/_aCcNKvqM6rXf
https://dl.doubtnut.com/l/_jP6lkwTrDOcd


32. Add without using number line :

Watch Video Solution

17 + ( − 11)

33. Find the sum of - 120 and -274

Watch Video Solution

34. Find the sum of -68 and 28

Watch Video Solution

https://dl.doubtnut.com/l/_fWDZyQKpxa18
https://dl.doubtnut.com/l/_hP0x67hrTv8d
https://dl.doubtnut.com/l/_zi1m8ixCItyL


35. Find the sum of - -29, 38 and 190

Watch Video Solution

36. Find the sum of -60, -100 and 300

Watch Video Solution

37. Simplify: 

( − 6) + ( − 10) + 5 + 17

https://dl.doubtnut.com/l/_zi1m8ixCItyL
https://dl.doubtnut.com/l/_ayrfUkLTDkOR
https://dl.doubtnut.com/l/_oDA35eeVYBJn
https://dl.doubtnut.com/l/_cGRIsKNrTRIU


Watch Video Solution

38. Simplify:

Watch Video Solution

30 + ( − 30) + ( − 60) + ( − 18)

39. Simplify:

Watch Video Solution

( − 80) + ( + 40) + ( − 10) + ( − 17)

https://dl.doubtnut.com/l/_cGRIsKNrTRIU
https://dl.doubtnut.com/l/_HqpfnKwM6NFg
https://dl.doubtnut.com/l/_Ma2CfN3n0EHM


Exercise 6 4

40. Simplify: 

Watch Video Solution

70 + ( − 18) + ( − 10) + ( − 17)

1. Find : 

40 - (20)

Watch Video Solution

https://dl.doubtnut.com/l/_ao5X1NIpZVWk
https://dl.doubtnut.com/l/_wKDGQ4cqkiwX
https://dl.doubtnut.com/l/_0EZuAWWyd2PS


2. Find 

Watch Video Solution

84 − (98)

3. Find 

Watch Video Solution

( − 16) + ( − 17)

4. Find 

Watch Video Solution

( − 20) − (13)

https://dl.doubtnut.com/l/_0EZuAWWyd2PS
https://dl.doubtnut.com/l/_jDduzAQ3db44
https://dl.doubtnut.com/l/_KD1MS6CrkfEP
https://dl.doubtnut.com/l/_rWHnwyv54PE8


5. Find : 

(38) - (-6)

Watch Video Solution

6. Find 

Watch Video Solution

( − 17) − ( − 36)

7. Fill in the blanks with  ,  or  sign: 

 ……… 

< > =

( − 4) + ( − 5) ( − 5) − ( − 4)

https://dl.doubtnut.com/l/_rWHnwyv54PE8
https://dl.doubtnut.com/l/_5WNNCUoXL0br
https://dl.doubtnut.com/l/_7wPHk0Drfhpy


Watch Video Solution

8. Fill in the blanks with  ,  or  sign: 

 ……… 

Watch Video Solution

< > =

( − 16) − ( − 23) ( − 6) + ( − 12)

9. Fill in the blanks with  ,  or  sign: 

 ………. 

Watch Video Solution

< > =

(44) − ( − 10) 47 + ( − 3)

https://dl.doubtnut.com/l/_7wPHk0Drfhpy
https://dl.doubtnut.com/l/_UGM44cDHVoUs
https://dl.doubtnut.com/l/_WubhITkXcaR3
https://dl.doubtnut.com/l/_W12zdXGK9AE1


10. Fill in the blanks with  ,  or  sign: 

 ……… 

Watch Video Solution

< > =

( − 21) + ( − 22) ( − 22) + ( − 21)

11. Fill in the blanks. (-13) + …….= 0

Watch Video Solution

12. Fill in the blanks. (-16) + (16)= …….

Watch Video Solution

https://dl.doubtnut.com/l/_W12zdXGK9AE1
https://dl.doubtnut.com/l/_CRecB3etn6an
https://dl.doubtnut.com/l/_bdmF9A5J1tY5


13. Fill in the blanks. (-5) + …….= -14

Watch Video Solution

14. Fill in the blanks. ……. -16= -22

Watch Video Solution

15. Simplify: 

Watch Video Solution

( − 6) − ( − 5) − ( + 2)

https://dl.doubtnut.com/l/_3Sv4RJtqkbAY
https://dl.doubtnut.com/l/_pG8YCC9KABpC
https://dl.doubtnut.com/l/_TtzfGg5g3zCc


16. Simplify : 

Watch Video Solution

( − 12) + 42 − 7 − 2

17. Simplify : 

Watch Video Solution

( − 3) + ( − 6) + ( − 24)

18. Simplify : 

Watch Video Solution

40– ( − 50) − 2

https://dl.doubtnut.com/l/_fHPY1oKmUX6R
https://dl.doubtnut.com/l/_QXWjsUbAivY0
https://dl.doubtnut.com/l/_QBIYukliT3Uv


19. Find : 

40 - (22)

Watch Video Solution

20. Find 

Watch Video Solution

84 − (98)

21. Find 

Watch Video Solution

( − 16) + ( − 17)

https://dl.doubtnut.com/l/_2EIoAOhd9x5u
https://dl.doubtnut.com/l/_V7C643Tpynor
https://dl.doubtnut.com/l/_zBSzJwMiwqwu


22. Find 

Watch Video Solution

( − 20) − (13)

23. Find : 

(38) - (-6)

Watch Video Solution

24. Find ( − 17) − ( − 36)

https://dl.doubtnut.com/l/_zBSzJwMiwqwu
https://dl.doubtnut.com/l/_cEmKumzBfFJw
https://dl.doubtnut.com/l/_C53Q3V6ZyyLc
https://dl.doubtnut.com/l/_avpQ4KdP0Cuv


Watch Video Solution

25. Fill in the blanks with  ,  or  sign: 

 ……… 

Watch Video Solution

< > =

( − 4) + ( − 5) ( − 5) − ( − 4)

26. Fill in the blanks with  ,  or  sign: 

 ……… 

Watch Video Solution

< > =

( − 16) − ( − 23) ( − 6) + ( − 12)

https://dl.doubtnut.com/l/_avpQ4KdP0Cuv
https://dl.doubtnut.com/l/_lfpN4QeFJlBQ
https://dl.doubtnut.com/l/_O66SyOnpWcvd
https://dl.doubtnut.com/l/_s6qDdBaXrmrV


27. Fill in the blanks with  ,  or  sign: 

 ………. 

Watch Video Solution

< > =

(44) − ( − 10) 47 + ( − 3)

28. Fill in the blanks with  ,  or  sign: 

 ……… 

Watch Video Solution

< > =

( − 21) + ( − 22) ( − 22) + ( − 21)

29. Fill in the blanks. (-13) + …….= 0

https://dl.doubtnut.com/l/_s6qDdBaXrmrV
https://dl.doubtnut.com/l/_eMuBGBjN7Qr5
https://dl.doubtnut.com/l/_TESPD8YrJDsy


Watch Video Solution

30. Fill in the blanks. (-16) + (16)= …….

Watch Video Solution

31. Fill in the blanks. (-5) + …….= -14

Watch Video Solution

32. Fill in the blanks. ……. -16= -22

https://dl.doubtnut.com/l/_TESPD8YrJDsy
https://dl.doubtnut.com/l/_pXRWVY0pHWgj
https://dl.doubtnut.com/l/_M7D3oPat2Ms4
https://dl.doubtnut.com/l/_EwjRBWrg8YTk


Watch Video Solution

33. Simplify: 

Watch Video Solution

( − 6) − ( − 5) − ( + 2)

34. Simplify : 

Watch Video Solution

( − 12) + 42 − 7 − 2

35. Simplify : ( − 3) + ( − 6) + ( − 24)

https://dl.doubtnut.com/l/_EwjRBWrg8YTk
https://dl.doubtnut.com/l/_5Jdrw05NH4Ae
https://dl.doubtnut.com/l/_eJ1aLmLGxFQl
https://dl.doubtnut.com/l/_ThGGD2zll4vC


Watch Video Solution

36. Simplify : 

Watch Video Solution

40– ( − 50) − 2

https://dl.doubtnut.com/l/_ThGGD2zll4vC
https://dl.doubtnut.com/l/_t7Rwx27N460w

